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Gs;spaply;j;jpl;lk; 
                     tpQ;Qhdk;-I  Science 

 

 

 

 

 

 

 

 

 

 

 
                                                                (40 Gs;spfs;) 

gFjp-A -  
 

01'(A) 

  (i) 

  ………………………………………………………..…………………………… 

  ………………………………………………………..…………………………… 

  ………………………………………………………..…………………………… 

  ………………………………………………………..…………………………… 

  (ii) 
   ………………………………………………………………..……………………………………………………………………..…………………………… 

   ………………………………………………………………..……………………………………………………………………..…………………………… 

  (iii) 
   ………………………………………………………………..……………………………………………………………………..…………………………… 

  (iv)  
   ………………………………………………………………..……………………………………………………………………..…………………………… 

   ………………………………………………………………..……………………………………………………………………..……………………………   

 (B) 

  (i) 

   ………………………………………………………………..………………………………………………………………………..…………… 

  (ii) 

   ………………………………………………………………..………………………………………………………………………...…………… 

10 me’ 01 

tpdh 
,yf;fk; 

tpil tpdh 
,yf;fk; 

tpil tpdh 
,yf;fk; 

tpil tpdh 
,yf;fk; 

tpil 

01 ^2& 11 ^4& 21 ^1& 31 ^3& 

02 ^2& 12 ^3& 22 ^1& 32 ^1& 

03 ^3& 13 ^4& 23 ^1& 33 ^2& 

04 ^4& 14 ^3& 24 ^3& 34 ^4& 

05 ^2& 15 ^1& 25 ^1& 35 ^3& 

06 ^2& 16 ^1& 26 ^2& 36 ^4& 

07 ^3& 17 ^1& 27 ^3& 37 ^3& 

08 ^2& 18 ^3& 28 ^2& 38 ^3& 

09 ^2& 19 ^1& 29 ^1& 39 ^2& 

10 ^1& 20 ^3& 30 ^2& 40 ^2& 

 

tpQ;Qhdk; 

,Utpj;jpiy xUtpj;jpiy jhtu ,ay;Gfs; 

xUtpj;jpiy 
xUtpj;jpiy 

 02 Gs;spfs; 

02 Gs;sp 

Ks;se;jz;Lspfs; 

01 

kQ;rs; FUtp 
Xzhz; 
 

 02  

ehd;F^04& 

01 

12+16+((14+2) x 2) = 60 02  

juk; 10 Neuk; 3kzp 10epkp   ,uz;lhk; jtizg; ghPl;ir 

ghlk; 
ghlrhiy 

Rl;nlz; 
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   ………………………………………………………………..……………………………………………………………………..……………… 

 

 

 

(C)' 
 

 (i) 

  ………………………………………………..………………….…… 

  ………………………………………………..………………….…… 

  ………………………………………………..………………….…… 

  ………………………………………………..………………….…… 

  

(ii)   

  ………………………………………………………………..……………………………………………………………………..……………… 

  ………………………………………………………………..……………………………………………………………………..……………… 

  ………………………………………………………………..……………………………………………………………………..……………… 
  

02. (A) 

 (i) 

   …………………………………………………..……………………………………………..………………………………………………… 

   …………………………………………………..……………………………………………..………………………………………………… 

 (ii) ' 

   …………………………………………………..……………………………………………..………………………………………………… 

 (iii) 

  

  

 

 

 

 

 

 

(iv) ……………………………………………………………..……………………………………………………… 

 ……………………………………………………………..…………………………………………………..……………………… 

 

 

(B) 

  (i) 
    

   …………………………………………………..……………………………………………..………………………………………………… 

 (ii 

   …………………………………………………..……………………………………………..………………………………………………… 

n = m/M     

½ mol  = m / 60 g mol
-1 

m  = 0.5 x 60 g    = 30 g 

 02  

 02  

kzy;fljhrp ,lg;gl;l Nkw;gug;Gf;F rkdhdgug;gsitf;nfhz;l 
kzy;fljhrp ,y;yhj ,d;ndhU Nkw;gug;iggad;gLj;jp 
kuf;Fw;wpia tpw;w uhrpdhy; fpilahf ,Oj;J vy;iy cuha;T 
tpiriaf; fhzy; 

kzy; fljhrp cs;sNghJ ngwg;gl;l vy;iy cuha;T tpiriatpl kzy;jljhrp 
,y;yhjNghJ ngwg;gl;l vy;iy cuha;T tpir FiwthFk; 

C,H,O,N,P 

01 

 01 

epA+f;fpspNahill;L  01 

Nghd;w tpilfSf;F 02 
RNA 

Gujf; njhFg;Gr; nrad;Kiwf;F  01 

Gujk; 

igA+Nuw;W 

 01 

 01 

01 

 mq;fpfspd; ghuk;gupa ,ay;Gfis Nrkpg;gjw;F  

 mq;fpfspd; jiyKiwAupikfis re;jjpfSf;F flj;Jjy; 

 Gujj;njhFg;G nrad;KiwfSf;F 
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   (iii) 

   …………………………………………………..……………………………………………..………………………………………………… 

 

(C)'' 

 (i) 

  A …………………………………………………………………………………………… 

  B……………………………………………………………………………………………. 

  C …………………………………………………………………………………………… 

  D …………………………………………………………………………………………….  

 (ii) 

  …………………………………………………..……………………………………………..… 

 (iii)  

  …………………………………………………..……………………………………………..… 

  …………………………………………………..……………………………………………..… 

3' (A 

  

(i) 

 

 

 

 

 
  
  

 

(ii) 

  …………………………………………………..……………………………………………..………………………………………………… 

 

 

(B)  
 

  (i) 

   …A B………..………………………………………………… 

  (ii) 
 

   C …………………………………………………..… 

   D……………………………………..……………… 

   

      (iii) 

   …………………………………………………..……………………………………………..………………………………………………… 

  (iv) 

   …………………………………………………..……………………………………………..………………………………………………… 

 

 

 

%yfk; 
mZ 
mad; 

GNuhj;jd;fspd; 
vz;zpf;if 

,yj;jpud;fspd; 
vz;zpf;if 

epA+j;jpud;fspd; 
vz;zpf;if 

mZntz; 

P 15 2,8,5 (a)……........ 30 

K+ 19 (b) ……........ 20 
(c) 

……........ 

Ar (d) ……........ 2,8,8 18 
(e) 

……........ 

 

fiury; Cjhepwkhf khWk; 

gr;irakzp 
fyr;Rth; 

,iokzp 

Gd;ntw;wplk; 

Ruj;jy; nghjpnra;jy; njhFj;jy; 

gr;irakzp 
 

 01 

 01 
 01 
01 
01 

 01 

 01 

𝐴𝑟18
36  

05 

15 
 

2,8,8 
 

20 
 

18 
 

36 
 

 01 

 

 01 

 
2 

1 01 

 

 01 

 

D 

gq;fPl;LtY gpizg;G 
 01 
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(i) C  

       …………………………………………………………………………….…………………… 

(ii)…………………………………………………………………………….……………………    

(iii) ………………………………………………………………………………………………. 

(iv) ……………………………………………………………………            

(C) 
 
 
 
 
 
 
 
 
 
 

04' (A) 

  

 (i)  

 …………………………………………………………………………………………………………………… 

 …………………………………………………………………………………………………………………… 

  (ii)  

 ……………………………………………………………………………………………………………………    

 ……………………………………………………………………………………………………………………    

 ……………………………………………………………………………………………………………………    

 ……………………………………………………………………………………………………………………    

  ……………………………………………………………………………………………………………………      

  (iii)  

 ………………………………………………………………………………………………………………………………………………………………… 

      …………………………………………………………………………………………………………………………………………………………………  

(iv) 

      …………………………………………………………………………………………………………………………………………………………………  

 

(B)   

 (i) 

………………………………………………………………………………………………… 

………………………………………………………………………………………………… 

  (ii' 

…………………………………………………………………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………………………………………………………………… 

 (Iii)  

…………………………………………………………………………………………………………………………………………………………………………… 

2.5 m 

 01 

 

B Nghud; 

$l;llk; I  

 01 

 

 01 

 
rf;jpkl;lq;fspd; vz;zpf;if mjpfhpg;gjhy; fUtpd; 
fth;r;rp tpir Fiwtiljy; 

G  01 

 

tpirj;jpUg;gk; = F2 x 0.5 

tyk;Roptpitj;jpUgkgk;= F2 x 0.5m 
= 10 N x 0.5 m 

,lk;Roptpirj;jpUg;gk; = F1 x 0.5m 
= 5 N x 0.5 m 

= 2.5 N m =  5 N m 

02 

 

 02 

 

 02 

 

tpisAs;tpirj;jpUg;gk=tyk;Roptpirj;jpUg;gk;  - ,lk;Roptpirj;jpUg;gk; 

= 2.5 N m  02 

 

tyk;Ropahf 
01 

 

200 N 01 

 

 01 

 

F x 2.5 m   =  200N x 0.5 m  

F =  200N x 0.5 m / 2.5 m    

F =  40 N 

02 

 

02 

 

nghUj;jkhdtpilf 
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B fldgi 

5' (A)  

  (i)  

 

   

      (ii)  

 

 

       (iii) 
 
 

 (iv). 

 
 

  (v) 
 
 

  

(B) 
 

  (i)(a)   
 

   (b) 
 

  (ii) 
 

  (iii) 
 

  (iv)       

 

 
 

  (v) 

   
 

6.(A)  
 
 
 
 
 

 
 

  

(i)  

 

A B 

Ks;se;jz;Lsp– Q,S 

Ks;se;z;byp– P, R,T 

 

P 

nghUj;jkhd tpilf;F 

02 

 

01 

 
02 

 

 02 

 

KiyA+l;bfspd; ,uz;L ,ay;GfSf;F 

mdyplh  01 

 

gq;fR 01 

  02 

 

nghUj;jkhd ,uz;L ,ay;GfSf;F 

gd;dk; 

Neh;xspj;jpUg;gk;  

a ,ioak; b mq;fk; c njhFjp 

nghUj;jkhd tpilfSf;F 

02 

  02 

 02 

 

 03 

 

Agq;fPl;LtYg;gpizg;G            Bmad;gpizg;G 
02 
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  (ii) 

 

  (iii) 

 

  (iv) 

 

  (v) 

 

 

 

 (B)  

 

  

 (ii) 

 

 

  (iii) 

 

  (iv) 

 

7' (A)  

 (i) 
 

 (ii) 
 
 

 

 

 

 

 (iii) 
 

  

(iv)    

               0 N 

 (v) 
 
 

   (vi) 
 
 

    (B) (i) 

 
 

(ii)  

tYtsitg;G+uzg;gLj;jp tpOkpa thAepiyia miltjw;F 

Vw;wj;ijf;nfhz;l mZ my;yJ mZf;$$l;lk; 

mad; Nrh;itfspd; ,ay;Gfs; ,uz;bw;F 

 02 

 

02 

 

03 

 

02 

 

02 

 

180 

 

n = m/M 

 n = 0.5 mol 

 

03 

 

n = 90 g/180 g mol
-1

 

 

0.5  x 6.022 x 10 -23
 

 

 02 

 

Ca(OH)2 

 

 02 

 

30 m s
-1

 

 

02 

 
Mh;KLfy;= Ntftpj;jpahrk;$Neuk; 

 = (30 m s
-1

 – 0) / 20 s  

= 1.5 m s
-2

 

 

02 

 

rPuhd Ntfk;  01 

 

 01 

 

rhptfj;jpd; gug;gsT= (90 + 40)/2 x 30 = 1950 m  03 

 

ce;jk;= m v = 800/1000 kg x 30 m s
-1= 24 kg m s

-1
  03 

 

tpjpia rhpahf vOjpapUe;jhy; 
02 

 

F = m a          24 N = 8 kg x a      a = 3 m s-2
 

02 

 



 

 

úoHdj 710 fY%aKsh  
 

 

  (iv) 
 
 

  (v) 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

8'(A)  

 

  (i) 

 

 

  (ii) 

 

 

 

   

(iii) 

 

(iv) 
 

(v)(a)  

 

 

 

(b) . 

 

 

 

 

 

 

 

cuha;Tk; ts;j;jilAk;  02 

 njhlif Nkw;gug;Gfspd; ,ay;G 

nrt;td; kWjhf;fk; 

02 

 

A , B, F 
03 

 

njhopy;-kfue;jr;Nrh;f;iff;fhf 
G+r;rpfisf; ftUjy;  
,irthf;fk;– epwq;fisf;nfhz;bUj;jy; 
Nghd;w tpilfSf;F 
jeksiqÿiqms<s;=rla 

         02 

 

nghUj;jkhd tpilf;F 
 01 

 

tpijNkw;wpzpT 01 

 

 01 

 

^1&Gilg;G mtj;ij 2& ,Y}w;wpdhf;Fk; mtj;ij 02 

 

nghUj;jkhd tpil         

ngz;fspd; ,dg;ngUf;f fykhd Kl;ilfis cw;gj;jp nra;jy; 
Kjpu; %yTUtpd; tsu;r;rpf;F topaikj;jy; 
<];l;NuhId; Gu[];Nuhd; Mfpa XNkhd;fis cw;gj;jp nra;jy; 
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(B)  

  (i)  

 

 

 

 

 

 
 

   (ii) 

 

 

 (iii)                                                                                 

 

 

 

  (v) 

 
 

(vi) 

 

 

 
 

 

 

9'(A)  

  (i) 

 

  (ii) 

 

  (iii)  

   

 

             (iv) 

 

  (v)  

 

T 

W - epiw 

T - ,Oit 

 02 

 

nghUj;jkhd tpilf;F  02 

 

15 N + F = 23 N 

F = 8 N 
02 

 

vjph;j;jpirapy;23 N tpir gpuNahfpf;fg;gl Ntz;Lk; 

                    02 

 

tpiaAs;tpir 

02 

 

rptg;G ghrpr;rhaj;jhs; ePyepwkhf khWk; 
ePyg;ghrpr;rhaj;jhspd; epwk; khwhJ 02 

 

tspAld; jhf;fk;Ghptijj;jLg;gjw;fhf  01 

 

gspq;FUmikg;G-ituk;  
gspq;FUmw;wmikg;G - epyf;fhp  02 

 

mkpyj;jd;ikahdJ  02 

 

S + O2 SO2 02 
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 (B) 

  (i) 

 

 

 

 

 

 

  (iii) 

 

 

 

 

  (iv) 

    (a)  

    (b)  

                (c)  

 

 

 

 

30 m s
-1

  02 

 30  

3s  T (s)  

03 

 

m g h = ½ mv
2
 

m g h = ½ mv
2
 

h = v
2
/2g      h =(30 x 30) / 20 = 45 m 

 03 

 

epiyapay; cuha;T tpir 

vy;iy cuha;T tpir 

,af;ftpay; cuha;Ttpir 

 01 

 
 01 

 
01 

 


